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II.D) Yes because if one looks at the slope fields of A, B and C, one can see that they all have 
asymptopes where f '(x) of the differential equation=0 (AKA where f '(x)switches from positive to 
negative or vice versa) and therefore, one can see the gerenal shape of the graph.

II.E) The cut off value is approximately . So y0 >=  will aprroach a limit of infinity. 
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III.C) It seems like the pattern is every odd i there is an underestimate. The property of the line givern by
Euler's method which indicates that it is an underestimate is when it is below the corresponding points 
given by the slope field and when it's above those slope field points there is an overestimate indicated. 
See graphs in III.A and III.B for illustration of these properties.


